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3-4 |7 8 ATE(8) 19 150.7 12.92 11.97 17 1
3-4 |1 8 ATZ(8) 25 98.9 11.86 20.97 25 16
3-4 |1 8 ATZ(8) 15 80.0 2.95 11,25 17 1
3-4 |7 8 ATE(8) 12 67.5 4843 9.72 12 1
3-4 |7 8 ATE(8) 10 76.9 0.69 147 10 2
3-4 |1 8 ATZ(8) 16 73.1 8.46 11.97 16 0
3-4 |7 8 ATE(8) 7 34.6 271 522 7 1
3-4 |1 8 ATZ(8) 13 89.2 6.88 9.00 13 0
3-3 3 ATE(T) 30 119.3 9.08 6.48 25 2
3-3 3 ATE(T) 23 155.2 6.21 4.68 25 10
3-3 3 ATE(T) 17 149.1 7.65 3.42 16 1
3-3 3 ATE(T) 15 127.3 487 3.06 14 0
3-3 3 ATE(T) 26 185.0 11.72 531 28 4
3-3 3 ATE(T) 14 164.3 10.24 2.88 13 2
3-3 3 ATE(T) 25 144.7 14.74 513 23 1
3-3 3 ATE(T) 15 372.9 9.92 3.06 15 3
3-3 3 ATE(6) 17 241.2 13.41 3.42 16 2
3-3 3 ATE(6) 18 158.1 589 3.69 16 4
3-3 3 ATE(6) 16 122.4 10.56 3.24 16 0
3-3 3 ATE(6) 19 244.1 10.83 3.87 18 1
3-3 3 ATE(6) 20 115.7 20.00 2.43 18 7
3-3 3 PRS2 =T 72— (4) 0 0.0 0.00 1.62 0 0
3-3 3 ATE(6) 16 158.5 3.85 3.24 16 5
3-3 3 ATE(6) 15 85.5 6.24 3.06 14 0
3-3 3 ATE(6) 22 257.1 28.84 450 19 2
3-3 3 ATE(6) 14 47.9 23.34 3.06 14 6
3-3 3 ATE(T) 11 119.6 16.07 0.00 10 2
4-2 = A D 6 PRS2 =T 72— (2) 8 3.3 4.00 1.53 8 0
4-2 =R 6 PRS2 =T 72— (2) 10 134 8.47 2.34 10 1
4-2 & 6 ATE(5) 17 192.0 22.48 351 19 5
4-2 6 ATE (5) 13 62.5 2.17 2.16 12 0
4-2 6 A& (5) 5 7.1 0.09 0.99 6 1
4-2 6 A& (5) 10 15.8 22.45 1.98 10 0
4-2 6 ATE (5) 6 0.0 3.69 1.17 7 1
4-2 6 ATE (4) 17 60.2 5.39 414 17 5
4-2 6 ATE (4) 16 79.3 12.73 3.42 15 3
3-4 6 A& (5) 18 189.9 246.34 5.40 23 4
3-4 1 ATE(1) 10 0.0 0.00 1.71 1 0
3-4 6 ATE (5) 17 95.1 24.43 4.14 20 1
3-4 6 ATE (5) 10 23.7 3.42 2.43 11 4
3-4 6 A& (5) 13 182 0.45 2.70 14 7
4-2 6 ATE(2) 25 143.0 4.30 594 32 5
-2 IEEE T EmEE, A dEmE= 6 ATE(2) 1 0.0 0.00 0.00 0 0
4-2 6 ATE(2) 17 70.8 14.19 414 21 1
4-2 6 ATE(2) 36 114.7 3.31 8.10 40 1
3-4 10 ATE (5) 10 35.8 16.26 0.37 10 9
3-4 10 ATE (5) 9 46,1 483 0.37 9 4
3-2 e 4 ATE(3) 8 30.2 15.37 2.07 8 1
3-2 it 4 ATE(3) 14 86.5 7.55 2.88 16 29
3-2 s 4 ATE(3) 3 0.0 46.69 1.08 3 0
3-2 & 5 ATE (4) 22 38.0 41.20 585 117 10
3-1 15 5 =k HARZ2T—(4) 84 124.9 50.18 22.41 122 69
3-2 “ 5 ATE(2) 22 104.7 16.62 558 18 0
3-2 . 2 PRS- Tt A—(2) 8 0.0 0.00 2.07 0 0
3-2 . 5 ATE(2) 15 79.2 16.69 423 18 2
3-2 “ 5 RS2 T 27— (8) 2 0.0 0.00 1.08 1 1
3-2 . 5 ATE(2) 4 0.0 0.00 0.00 0 0
3-2 e AN EHEREREEES 5 hhaS =S 4—(8) 8 0.0 0.00 1.62 1 0
3-2 . 5 ATE(2) 16 98.7 17.50 477 21 5
3-2 “ 5 PRS2 =T 72— (9) 5 0.0 0.00 1.62 2 0
3-2 . 5 ATE(3) 10 95.6 2478 2.61 16 1
3-2 . 5 ATE(3) 13 333 29.45 3.42 13 16
3-2 . 1 ATE (B1) 4 0.0 0.00 1.08 0 0
3-2 3 ATE(3) 20 46,5 2797 504 14 4
3-2 3 ATE(3) 19 60.3 7.98 3.96 21 5
4-2 7 ATE(4) 25 158.5 1.08 3.60 27 5
4-2 7 ATE(4) 16 40.6 13.87 1.98 15 3
4-2 7 ATE(4) 28 169.0 13.94 4.05 25 1
4-2 7 hhaS =T —t 48— (2) 33 157.4 24.23 4.68 33 0
4-2 7 ATE (4) 21 80.7 3.90 2.88 20 1
4-2 7 ATE(4) 11 67.3 1.52 1.53 12 1
4-2 7 ATE(4) 14 40.2 9.61 1.62 15 0
4-2 7 ATE(4) 23 56.8 8.75 1.98 15 0
4-2 7 ATE(2) 11 63.0 7.35 0.81 10 1
4-2 7 PRS2 = 74—t 48— (10) 7 65.8 8.79 0.55 8 0
4-2 7 ATE(2) 14 58.6 7.99 0.99 11 1
4-2 7 ATE(2) 16 448 11.41 1.26 15 2
4-2 7 ATE(2) 8 21.3 0.76 0.72 8 1
4-2 7 ATE(2) 11 74.4 507 0.90 12 0
4-2 7 RS =T/ —t8—(2) 17 155.2 12.92 1.35 19 1
4-2 7 PRS2 =T —t8—(2) 19 188.3 21.00 1.44 27 2
2-4 1 ATE(1) 35 3234 2458 | 12591 29 22
4-4 6 10 48.1 222 4.23 10 0
4-4 6 13 49.1 230.86 549 12 3
4-4 6 9 2283 2.69 3.78 8 0
2-4 9 s~ =Tt %—(B1) 53 125.7 0.00 477 57 1
2-4 9 s~ =Tt %—(Bl) 63 578.2 0.00 15.93 90 10
2-4 7 s~ =Tt %—(B1) 19 0.0 18.91 531 21 1
2-4 9 s~ =Tt 8—(1) 22 143.6 10.20 549 22 0
3-4 9 ATE(5) 43 0.0 23.72 10.98 19 1
4-4 9 ATE(1) 16 7.7 3.97 5.76 20 1
4-4 9 ATE() 13 82.1 3.43 3.78 17 0
2-4 9 PROS2 =Tt 8—(1) 18 101.0 3.60 423 25 1
2-4 9 PRS2 =Tt 8—(1) 23 85.0 6.88 5.49 22 1
2-4 9 RS2 =T 2—(1) 23 147.4 7.41 522 21 1
2-4 9 RS2 =T 2—(1) 18 101.7 6.21 450 17 1
2-4 9 RS2 =Tt 2—(1) 12 103.9 552 5.76 23 1
4-4 9 ATE(1) 31 135.2 37.69 7.29 33 5
4-4 7 ATE() 26 68.9 8.28 6.48 24 1
4-4 8 ATE() 15 773 9.40 1.98 16 1
4-4 8 ATE() 16 38.4 5.86 1.98 17 1
4-4 8 ATE() 17 64.8 9.33 2.16 17 3
5-3 8 RS2 =Tt 2—(9) 71 146.7 23.95 8.82 60 4
5-3 8 RS2 =Tt 2—(9) 29 123.9 27.04 3.60 28 0
5-1 4 RS2 =Tt 2—(3) 24 295.1 17.05 4.68 23 0
5-1 4 RS2 =Tt 2—(3) 23 217.7 17.65 450 21 1
5-1 4 RS2 =Tt 2—(3) 22 349.2 28.67 4.68 20 1
5-1 4 RS2 =Tt 2—(3) 26 587.3 12.71 513 22 3
5-1 4 RS2 =T 2—(3) 23 241.3 15.11 4.68 22 0
5-1 4 RS2 =Tt 2—(3) 19 131.8 17.61 387 16 0
5-1 4 RS2 =Tt 2—(3) 21 276.4 20.21 4.68 23 4
5-1 4 RS2 =Tt 2—(3) 24 298.0 13.27 513 22 4
5-1 4 RS2 =T 2—(9) 20 174.8 20.45 3.69 20 2
5-1 4 RS2 =Tt 2—(9) 12 134.4 4.21 2.43 12 3
5-1 4 RS2 =Tt 2—(9) 17 112.9 14.25 351 16 2
5-1 4 RS2 =T 2—(3) 12 141.0 9.37 2.43 11 0
5-1 4 RS2 =Tt 2—(3) 14 157.8 9.55 3.06 13 1
5-1 4 RS2 =Tt 2—(3) 22 297.1 18.81 468 24 7
5-1 4 RS2 =Tt 2—(3) 14 89.7 9.08 2.88 13 1
5-1 4 RS2 =Tt 2—(3) 11 39.0 9.20 2.25 10 0
5-1 4 RS2 =Tt 2—(3) 20 56.8 26.43 351 21 5
5-1 10 RS2 =Tt 2—(1) 9 60.2 25.49 13.59 11 4
5-1 10 RS2 =Tt 2—(1) 12 90.6 25.34 15.21 13 7
5-3 2 PRS2 —Ta—fE—(2) 11 53.0 17.42 0.00 16 7
3-1 £ 10 Rk (27— (1) 15 106.8 9.27 0.62 15 2
3-1 a5 10 Rk AF27—(11) 15 0.0 0.00 0.63 12 0
3-1 a5 10 Rk AF27—(11) 24 54.6 0.91 1.08 15 3
3-1 a5 10 Rk AF27—(11) 35 102.2 2.60 1.35 18 0
3-1 a5 10 Rk AF27—(11) 35 198.6 2.73 1.44 25 0
3-1 ES 10 Rk AF27—(11) 28 151.0 1.36 0.95 28 2
3-1 ES 10 Rk AF27—(11) 9 106.7 0.45 0.37 10 1
2-4 # 10 IR=RHARZ2T—(12) 27 231.3 21.28 117 26 1
2-4 # 10 A=Kk AF27—(12) 8 29.9 4.23 0.37 8 0
2-4 # 10 Rk AF27—(11) 25 0.0 4.84 1.08 19 0
2-4 # 10 IR=RHARZ2IT—(11) 31 258.1 37.25 1.26 26 0
2-4 # 10 IR=hHARZ2IT—(12) 21 68.2 63.54 0.71 21 6
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11 0 0.0 14,480
5 0 80.0 0.0 36 64
3-4 E. 1~6 0 0.0 0.0
4-4 ] 7~10 0 0.0 0.0
21 1f 1 ATS() 3 00 0.0
21 F 18
B 2,496 15,002 14,480 | 2,129.67 667 | 2,597 478




